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Binary data is to be transmitted at the rate with rb = 500kbps on a radio channel having 400-kHz bandwidth. 

a) Specify the modulation method that minimises signal energy, and calculate 
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b) Repeat part (a) with the additional constraint that coherent detection is not practical for channel in question.
ANSWER:

a) For the first case, 
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Thus we choose QAM or QPSK, this gives us 

b) We choose DPSK with M=4. 
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This gives us:
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� EMBED Equation.3  ���






































� EMBED Equation.3  ���
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